
1 林致佑
(a) 2M x 16
1. 2^10 = 1024 -> take 2^10 as the binary approximation of kilo- (1000 multiplier)

2M = 2 * 2^20 = 2^21, so 2M x 16 takes 21 address lines and 16 input and 16
output lines

2. Number of bits stored in the memories:
2M x 16: 2M = 2^21 = 2,097,152 words. Each word is 2 bytes = 16 bits, so the total
number of bits is 2^21*16

(b) 32K x 4
1. 32K = 2^5 * 2^10 = 2^15, so 32K x 4 takes 15 address lines and 4 input and 4

output lines
2. Number of bits stored in the memories:

32K x 4: 32K = 2^15 = 32,768 words. Each word is 4 bits, so the total number of bits
is 2^15*4

2徐浩庭
題目要求為8X8 => I0~I7 為Inputs，O0~O7 為outputs
4X4 RAM為 2-to-4-lines decoder
因此有兩個 Address inputs(A0,A1)，而A2為 Memory enablem用於控制A0及A1，當A2=0時
Address inputs(A0,A1)=0，A2=1時Address inputs(A0,A1)=1。
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